SH6ES5A5(R)
- R 73 K £ Tk 14 > b—%)L | HDCP = S KAk
& B EE A 44 44 88 23.0 65.0 500
EEH HE =muEp 45 47 92 27.0 65.0 400
33 XfE fE 43 36 79 13.0 66.0 300
461 FEX E=x 50 48 98 31.0 67.0 200
561 X B— 40 35 75 7.0 68.0 100
613 g ER 42 40 82 14.0 68.0
741 F OEX 40 39 79 10.0 69.0 90
813 & W= 45 44 89 20.0 69.0
9fiL g S8 42 37 79 9.0 70.0
101 FEll 28| 41 40 81 11.0 70.0 75
1141 AE 43 43 86 16.0 70.0
124 XfgE BE 52 48 100 30.0 70.0
134 RE 38 39 77 6.0 71.0
1441 BE B 41 42 83 12.0 71.0
1541 FTF B— 38 42 80 9.0 71.0
164 FIER  [E1H 39 42 81 10.0 71.0
174 Ak &RRE 46 44 90 19.0 71.0
181 FT f#Ht 49 48 97 26.0 71.0
1941 M RXER 43 38 81 9.0 72.0
201 LA Al 42 39 81 9.0 72.0 75
2141 EBA #Bif 52 40 92 20.0 72.0
2241 ZE2 EN 39 43 82 10.0 72.0
234 tE B 41 38 79 6.0 73.0
2441 AR KR 46 39 85 12.0 73.0
2541 B EA 43 40 83 10.0 73.0
2641 Iz B=E 42 40 82 9.0 73.0
2741 B R 44 41 85 12.0 73.0
284 7 22 PS 40 43 83 10.0 73.0
29431 A Bih 43 43 86 13.0 73.0
30%L BR EH 40 48 88 15.0 73.0 75
314 I MR 39 40 79 5.0 74.0
324 AE X 46 41 87 13.0 74.0
33fL X RX 40 43 83 9.0 74.0
344 i B— 41 43 84 9.0 75.0
3541 HKE AL 47 43 90 15.0 75.0
3611 R K 51 44 95 20.0 75.0




AB & R #
SH6ES5A5(R)
- R 73 K £ Tk 14 > b—%)L | HDCP = S KAk
3741 AT BE 48 44 92 17.0 75.0
3811 Rin F 52 44 96 21.0 75.0
394 EAEl 8 45 44 89 14.0 75.0
401z AR #RE 39 46 85 10.0 75.0 75
414 HKHE Ei 46 49 95 20.0 75.0
4211 BA Eth 49 39 88 12.0 76.0
431 ZR FH 45 41 86 10.0 76.0
4441 HfE &M 37 42 79 3.0 76.0
45(1 ER {F5E 40 42 82 6.0 76.0
464 BH FE 45 44 89 13.0 76.0
4741 RiE F# 45 45 90 14.0 76.0
4841 FTF =T 49 47 96 20.0 76.0
4941 x5 ®HE 50 48 98 22.0 76.0
501iz A A 50 48 98 22.0 76.0 75
5143 BmAR FH 43 44 87 10.0 77.0
52{1 WE EER 48 45 93 16.0 77.0
53fL e EE 49 46 95 18.0 77.0
5441 EiE HH 43 47 90 13.0 77.0
554 MHE X 42 48 90 13.0 77.0
5611 MR BEX 42 50 92 15.0 77.0
5741 B & 41 51 92 15.0 77.0
581 EH —RB 44 47 91 13.0 78.0
594i KE 2 46 43 89 10.0 79.0
60%L £ BT 47 45 92 13.0 79.0 75
6141 Bk B— 47 47 94 15.0 79.0
624:L A XA 45 52 97 18.0 79.0
6341z B E 40 40 80 0.0 80.0
644L B - 53 43 96 16.0 80.0
6541z HE O 49 45 94 14.0 80.0
661 BE M 41 49 90 10.0 80.0
674z BT 2 51 52 103 23.0 80.0
684L MBE =mAE 61 54 115 35.0 80.0
69%:L X% =i 51 41 92 11.0 81.0
7043z F&H BAX 47 42 89 8.0 81.0 75
7141 mR Ba 48 44 92 11.0 81.0
724 AR B 48 47 95 13.0 82.0




AB & R #
SH6ES5A5(R)

- R 73 K £ Tk 14 > b—%)L | HDCP = S KAk
7341 Fll EE 55 48 103 20.0 83.0

7431 = BF 55 55 110 27.0 83.0

75431 B 53 45 98 14.0 84.0

7641 [iif I P S 51 46 97 13.0 84.0

7741 BRE —X 46 51 97 13.0 84.0

7841 Bl RE 46 54 100 16.0 84.0

7941 ik - 54 57 111 27.0 84.0

8011z mE B 59 48 107 22.0 85.0 75
8141 =mE UX 51 50 101 16.0 85.0

8211 NI 4| 49 53 102 14.0 88.0

8311 Bl & 46 55 101 13.0 88.0

8441 AH {ER 48 47 95 6.0 89.0

854 gX EF 48 53 101 12.0 89.0

8611z M= EX 62 60 122 30.0 92.0

8741 AAR Hia 58 45 103 10.0 93.0

BBE mE &RE 62 51 113 19.0 94.0 120
8911z &k Bz 57 55 112 18.0 94.0
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